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/I 1. WF=BHikES = [(63.96+67.72)x12.65+(8.865+6.14)x5.4+(5.4+11.29)x16.6 75+ 4 BRBELRN :
g ! (20.19411.29)x9.45+(19.02+19.65)x2.115]/2+19.65x18.075+ 7.343x11.29 REfE  RE=38H#,
N
/ = 1640.261 Ati= 0 < 38 /558 # (ok)
K < 2. SRR X 250 X550)= 36 &
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) = 2.6x5.4=14.04r XEMANH =38
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1 IBHE G5, RORRS . (Gcempmn BERBHATRE £ 33 #)
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iR 1 20cm bt 8% : 20cm BT &% 1 24cm bk
EREEE 120cm |, #& 1 15cm , 8% :26cm (ok)

2 BB (wamnRn RESINLE ¥ 05 #)

BkE®: 0.00 w > 200 nf, Bk, ERaE (ok)

ORAIERYHRN | (hosen BESHTH 2 96 & % 2 K)

wkE®: 0.00 o < 100 n, WREREWIR—BESH R mEsERet (ok)
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(20.19+11.29)x9.45+(19.02+19.65)x2.115] /2+19.65x18.075+7.343x11.29

= 1640.26n
2. B
#Ex: (A ) = 6.135x1.95=11.96m
= 2.6x5.4=14.04r
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BE®: 1640.26 w > 200
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(ok)

BRER: 0.00 < 100 nf, WRRSHHR-BELH ER-mERRe® (ok)
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— HREHE:
1. W EEBMER = [ (63.96+67.72)x12.65+(8.865+6.14)x5.4+(5.4+11.29)x16.6 75+
(20.19+11.29)x9.45+(19.02+19.65)x2.115]/2+19.65x18.075+7.343x11.29
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